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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 34 questions.

Please write down the serial number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-script during this period.
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(iti) @UE 3 § Ueh-Tah 37 a1 8 J¥H &, I dg-lawedl g7 &/ @z = =
THENH QT 21 HF F I @I H 10 Y97 diA-dT 7% = 2
GUETH 10 797 & 5774 @ 9% AR 3T &1 8|

(iv) FAPAR FT FFIT A 2

General Instructions :

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four section: -
B, C and D.

(iii)  Section A contains 8 questions of one mark each, which are multp.:
choice type questions, Section B contains 6 questions of two marks ccc
Section C contains 10 questions of three muarks each, and Secrior
contains 10 questions of four marks each.

(iv)  Use of calculators is not permitted.

[us A
SECTION A

Y97 &I 1 8 8 G%F YedF Tv Uk 3 FT 2/ I35 Y97 & ol 9R fabeq fou 2,
for74 @ @9t U G&l 2| Fal fawed T

Question Numbers 1 to 8 carry one mark each. In each of these questions, four
alternative choices have been provided of which only one is correct. Select the

correct choice.

o P p
(A) p
(B) -p
<€ -1
(D) 1

30/1/1 2
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The common difference of the AP l,lj’_,iﬁ, ..... is
P D p

A) p

®) -»

€ -l

D) 1

Jrfa 1 8, U ara fog P8 & C 3t g9 W Ei=h 7% & w3l {@Td PA @1 PB
FIRIAF = 4 TR BTN PA LPB R, N IS WA W@ f @8 8 :

A
P

B

AT 1
(A) 39 (B) 4 @t
(C) st (D) 63

In Fig. 1, PA and PB are two tangents drawn from an external point P to a
circle with centre C and radius 4 cm. If PA L PB, then the length of each

tangent 1s :

P
B
Fig. 1
(A) 3cm (B) 4cm
(C) Scm (D) 6cm

3 [P.T.O.
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3. a2 ¥, tF 9qdS ABCD #F 3f@rid =% O 91N Uk I = w2 S
WSTsT BC, AB, AD @1 CD %! figeii P, Q, R 9T S W Fw: ¥9¢f &efl 2
afe AB=29 ¥Ht, AD=23 &1, ~B=90° @1 DS=5 &t B, @ Fu A =0

(It H) 2.
(A) 11 (B) 18
< 6 (D) 15

In Fig. 2, a circle with centre O is inscribed in a quadrilateral ABCD such
that, it touches the sides BC, AB, AD and CD at points P, Q, R and S
respectively. If AB=29 cm, AD=23 c¢m, £B=90° and DS = 5 cm, then the

radius of the circle (incm.) is :

A) 1 (B) 18
€ 6 (D) 15

30/1/1 4
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4. 75 S vk iR S RRR @ 4y @ @d OF FR 1 AT 30° 2| HAR
% YR A FRA G (A H) 2

(A)
(B)
©)
(D)

253
503
753
150

The angle of depression of a car, standing on the ground, from the top of a
75 m high tower, 1s 30°. The distance of the car from the base of the tower

(inm.)is:

(A)
(B)
©)
(D)

253
503
753
150

5.  Teh UTH ! Uh IR Shehd UL Ush THEEHT o 31T 1 WTTaehdi 2 :

(A)

©

1
5 (B)

| =
fo W LY, S VS =

The probability of getting an even number, when a die is thrown once, is :

(A)

(©)

30/1/1

®)

(D)

Q= =
S|l L=

5 [P.T.O.
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6. TR Afem SfMmidoaraadfrg sk @ Q
1= U Taean Fanreft St 2, ot 36 feeh W 23 9 0 3197 w1 & WM

HEEIRIIDET R
@ o
® o
© =
® =

A box contains 90 discs, numbered from 1 to 90. If one disc is drawn at

random from the box, the probability that it bears a prime-number less than

23,1s :
7 10
(A) P (B) =
4 9
©) e (D) %

7. o 3 H, € E FyS ABC %1 gt (St H) ®

/hY

1 Aq, 3)

T 3
: (A) 15 (B) 10
C) 175 (D) 2.5

30/1/1 6
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In Fig. 3, the area of trianzle ABC (in sq. units) is :

Fig. 3
(A) 15 (B) 10
C) 7.5 (D) 2.5

8. afk el g % f qen B o o 37 AR, W =2 W W, A
i (3t ) % -
(A) 154
(B) 44
(C) 14
D) 7

If the difference between the circumference and the radius of a circle is

37 cm, then using 7t = %, the circumference (in cm) of the circle is :

(A) 154
(B) 44
(C) 14
D) 7

30/1/1 7 [P.T.O.
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Qs d
SECTION B

G GEIT 9T 14 TF GAF 57 & 21 3TF &1

Question Numbers 9 to 14 carry two marks each.

9. T feama gftestor =61« & foru g hifs
432 +5x-243=0

Solve the following quadratic equation for x :
432 +55-243=0

10. < aTent arett et wreha T 7 & favrsa #7

How many three-digit natural numbers are divisible by 7?

11. 3T 4 4, Bys ABC & #iava @i T g9 g8eh! C
Y131 AB, BC @91 AC &1 zmem: fogefi D, E 991 F |
Wyl a1 g1 Ak AB = 12 ¥, BC = 8 @t @

AC = 10 ¥t 2, &1 AD, BE @1 CF %I wamgai g@ | =
FHifs | '
A ¢ B
D
ATRI 4
In Fig. 4, a circle inscribed in triangle ABC touches C
its sides AB, BC and AC at points D, E
and F respectively. If AB = 12 cm, BC = 8 cm and
AC = 10 c¢m, then find the lengths of AD, BE and CF. F E
A ; B
D
Fig. 4

30/1/1 8
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12. Tugifsme o ot g & ofom == = oo 9ggs ====4F g 2|

Prove that the parallelogram circumscribing a circle is z rhombus.

13. U 7= TR ¥ Bl 78 52 IR I A9 i N B T T T Agesdl e
T | TR Fd it R Frerre e ae A @ senE £ AR A T R |

A card is drawn at random from a well shuffled pack of 52 playing cards.

Find the probability that the drawn card is neither a king nor a queen.

14. 14 QY x7 Ot fomratt gt U STUATER IS SIS A ¥ S 9T T3], Tieehad
QG AT THM Brewm a1et gueER 2as w1 | 9y 59 #1E a1 # aand

maﬁ‘\ﬁm[n=%?«ﬁﬁq1

Two circular pieces of equal radii and maximum area, touching each other

are cut out from a rectangular card board of dimensions 14 cmx7 cm. Find

o . 2
the area of the remaining card board. [Use & =%‘—]

©us ¥
SECTION C

YH AT 153 24 A YAF T T a5 5/

Question Numbers 15 to 24 carry three marks each.

15. k% form mm % fore famma ofieet kx (x—2) +6 = 0 % ot Tam 37

For what value of %, are the roots of the quadratic equation kx (x-2) +6 =0

equal ?

30/1/1 9 [P.T.C
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16.

17.

18.

19.

30/1/1

THIA A0 18, 15%, 13, ...... —49Y o U1 =hY GEAT T hIfSTC a7 38 Tefi
UGl ST IS ST 1T |

Find the number of terms of the AP 18, 15%, 13, ....., —49% and find the

sum of all its terms.

s iy &1 e i frmer gemd 5 |, 4 99t 9o 6 9 B | TR U =
gt <6 T BT Y syt et B o we e % T 2

Construct a triangle with sides 5 cm, 4 cm and 6 c¢cm. Then construct

another triangle whose sides are %— times the corresponding sides of first

triangle.

31 @rl o ST T AT 20 15 W 2 | gE U o YRR § 3 W U @
TSR 1 e o 30° &1 A gE @ i F9E 24 MR, @ R @
FaTE F1a ShifeTe | [V/3=1.732 &I ]

The horizontal distance betweer two poles is 15 m. The angle of depression
of the top of first pole as secen from the top of second pole is 30°. If the
height of the second polc is 24 m, find the height of the first
pole.[Use~/3=1.732]

fag ifvte 76 f&g (7, 10), (<2, 5) T (3,-4) T wmfgemg T By &
MY 21

Prove that the points (7, 10), (-2, 5) and (3,-4) are the vertices of an

1sosceles right triangle.

10
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20. 9% VW T hIfe e y-31e Fgatt (-4, —6) @ (10, 12) F e a
Yaraue #! faarfera e 2 | fasre-fag 3 Rdn oft e hifsm)

Find the ratio in which the y-axis divides the line segment joining the points
(-4, -6) and (10, 12). Also find the coordinates of the point of division.

21, 3Ffa s H, AB A CD %5 O 77+ g1 % al TR STaq =14 ¢ 791 OB Bl FW
F AW gl AR OA = 7 FHT 2, O BEIRd W H HIFA FA Hife|

[ z%ﬁﬁm

In Fig.5, AB and CD are two diameters of a circle with centre O, which are

perpendicular to each other, OB is the diameter of the smaller circle. If

OA =7 cm, find the area of the shaded region. [Use © =%%]

30/1/1 11 [P.T.O.
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22,

23.

24,

Teh A4 T AIEHE = 7 3IRING @Ee So F 3R &1 8 s
M AW § | AEHE 77 = S 14 HH g 997 39 g4 ] T S915

2 - - 22 A
13 9l B | A 1 el GEFT T FA NG | [ == ey

I

A vessel is in the form o @ hemispherical bow] surmounted by a hollow

cylinder of same diameter. "he diameter of the hemispherical bowl is

14 cm and the total height o 1he vessel is 13 cm. Find the total surface area
"y

of the vessel. [Use m ="

THE! % Ueh B Soi9 7 T T 0 o I s w5 uss Jrefien @ee e
TU, T Faeln gm0 T e S SeT8 10 961 @ 3R IR @ e

7

A wooden toy was made © v cocoping out a hemisphere of same radius from

each end of a solid cylinder. |7 the height of the cylinder is 10 cm, and its

base is of radius 5.5 cm, fin¢ tae volume of wood in the toy.[Use 7t =-:i—2]

21 ¥t B T g@ T WM, ¥R W 60° OB I HA 2
I FISC ¢ () =9 0 @R (i) 9™ gR s T Seems w1 8% |

In a circle of radius 21 cm. an arc subtends an angle of 60° at the centre.

Find : (i) the length of the arc (ii) area of the sector formed by the arc.

22
Use n ===
[ > ]
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Tz
SECTIOND

99 GEIT 25 T 34 a%F Tlah G971 & T 2TF £ |

Question Numbers 25 to 34 carry four maris each.

25. fa=faftaa = x 3 fou ge Hifsm
1 1 1 1
oy Dot s
2a+b+2x 2a b 2x

Solve the following for v :
1

1 1 1
s G +_
2a+b+2x 2a b 2x

26. ST % QAGA! 1 A 400 T 4= R | AT TR IRETI] 7 ST’ 16 H 7, O
ﬁﬁ"ﬁﬁ'ﬂﬁlﬁm iU |

Sum of the areas of two squarcs is 400 cm’. If the difference of their

perimeters is 16 cm, find the sides of the two squares.

27.  ofe Tordl Tiar Soft 3 mom 7 U2 =5 9 49 B 997 36k UUH 17 9T 1 0T 289
7, 0 3 A0ft & YW ¢ TS T T T It |

If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289,
find the sum of its first # terms.

28. Tirg hifor B g % Tt forg o2 st Y vl -forg @ 9 et e w & 2t
2l

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

30/1/1 13 [P.T.O.
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29. 3THfd 6 |, [ 99 m, Tz O T TR 99 W 2 qwier Toet Yl €, S waen A
AT B W g i ¥0% Ll £ | g ¢ 0w o= waet W, W@ 1w D woae T
m ! E R vfede #dl 2 | frg 15 B5 2 DOE=90° 2|

A
¢ D > ]
oK
'\ /€
g
|
« = - m

In Fig. 6, / and m are two parallci tangents to a circle with centre O.

touching the circle at A and B res= = “zly, Another tangent at C intersects
the line / at D and m at E. Prove <=+ .. DOE=90°.

“— > ]

— >

30. U AR % YR-fag @ U wad % fwet w51 33 o 30° § oy ¥ -

fomg @ ¥R = Rrer %1 377@ %10 60° #1 3 FR 60 SR B, @ v A
, 37TS I Shifr |

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

30/1/1 14
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31, UHWHRH 12 Afda & 58 ¥ 3 7eafiyss Sfam, 31 6 Sfedfoss SHHeR a9 3y
ek AT & | T8 H § T Ao ATgesal g1 7T | Afe ek safered o g3
ST shl TR B9 €, a1 Ikl J1d shifste 3 51 T safe (i) srcafees
Y 2| (if) TATF T 2oET SHHER B AN et 3 @ R gea
319 e S 3d 87

A group consists of 12 persons, of which 3 are extremely patient, other 6
are extremely honest and rest are extremely kind. A person from the group
is selected at random. Assuming that each person is equally likely to be
selected, find the probability of selecting a person who is (i) extremely
patient (ii) extremely kind or honest. Which of the above values you prefer

more.

32. U GHIAU FgHSt ABCD & = Tfid A(3,- 4), B(~1, —3) @1 C(=6, 2) ¥| 3fid
D % f3dsmies 3 SifSre aen ABCD =1 8e sira Sifsru |

The three vertices of a parallelogram ABCD are A(3, — 4), B(~1, —3) and
C(-6, 2). Find the coordinates of vertex D and find the area of ABCD.

33. 2 Ot 3Tl =E AT AeEEE 9159 @ U 0.4 /A Y W TF AoHER I
T ST @1 21 IS 39 % 2nan it B 40 T R, 9t 71a Fifvre 6 ey w2 8 F i
9T 21 TR a1 51 Sraam |

Water is flowing through a cylindrical pipe, of internal diameter 2 cm, into

a cylindrical tank of base radius 40 cm, at the rate of 0.4 m/s. Determine the

‘ rise in level of water in the tank in half an hour.

30/1/1 15 [P.T.O.



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDGE

34.

1g ! =T U I W H el U qMed] AFp o Ak o IR i g, ol
TEUS 24 Tt A1 39k S a1 et geiy Rl % e s 30 vt qen
10 9t 8| 38 s § TRt =1eL 1 9o 79U 10 Ui 100 I |t Y A
FIfTT | [n=3.14 =T |

A bucket open at the top, and made up of a metal sheet is in the form of a
frustum of a cone. The depth of the bucket is 24 ¢m and the diameters of its
upper and lower circular ends are 30 cm and 10 cm respectively. Find the

cost of metal sheet used in it at the rate of Rs 10 per 100 cm’. [Use n=3.14]



